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2.6 Specialised plant cells

1. a. Photosynthesis.

b. (Adaptations can be given in any order)
Adaptation/explanation 1: Cells are located near
top of the leaf/so they get as much sunlight as
possible. Adaptation/explanation 2:
cells are brick-shaped/so they can be packed
together as tightly as possible. Adaptation/
explanation 3: they contain large numbers of
chloroplasts/to ca pture light for photosynthesis
and make food.

2. a. Root hair cell.
b, Takeinwater and mineral salts from the soil.

<. Your labelsshould be thesameras Fig 2.6Cin -

3.1 Microorganisms

1. The missing words are: single; bacteria/viruses;
viruses/bacteria; fungi: microscope; culture.

2. a. fungus b. bacteria c. viruses d. yeast/s.
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- 3. a. Soscientists all over the world know which organisms they are talkl .

about. b 5 8
b. Because the bears are similar so they are in the beargmup tONher. '
¢. Because the bears are different species. "

d. :f ;ielz:'rent species breed they form a hybrid and hybrids are usually
nfertile. e
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3. . Bacteria feed on the sugar
This solidifies the milk and

they are in. She
point, i
. When the

gets bigger. Dough without yeast does not
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awaste product. The bubbles of gas make the



